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SA-BH.C(BH) - HRAY - B o Il jes)e Rz
21s 347,250 352,513 A5,263
1S ZONHIAZS 23l 176,802 181,725 ~4,923
1S FoMBX S 176,802 181,725 ~4,923
UEIS FOUNIME 2 48,900 50,400 A1,500
201 Yer2ot| 13,500 15,000 A1,500
01 AtR2elt] 13,500 15,000 A1,500
OF QXX ME S| 23 13,500,000 13,500 15,000 A1,500
YBIS FUBOHBT 51,720 51,820 A100
301 YerBA3 51,720 51,820 A100
10 BAAHIZAZ 900 1,000 £ 100
ONE L BAS HAX AHB
23 900,000 900 1,000 A100
YEI1S ARYBL 40,181 41,169 £988
201 Yer2o| 8,881 9,869 988
02 ZZ2H| 8,881 9,869 £988
OBZRILHA 23 7,221,000 7,221 7,721 A500
OA&ZHI S bl AT 512,008 512 1,000 ~488
YEIS HZX S 30,001 32,336 A2,335
201 Yereg| 8,761 9,736 A975
01 AtR2elt] 3,577 3,976 £399
SETIER=1 A 2,777,0002! 2,777 2,976 ~199
ongeuxe 23 800,000 800 1,000 A200
02 ZTZ2H| 5, 184 5,760 576
SHRZ A 5,184,0008 5, 184 5,760 A576
202 01t 20,240 21,600 A1,360
01 =Uoit] 20,240 21,600 A1,360
OJI2YR480iH (1021)  HF 19,440,0009 19,440 21,600 A2, 160
OPHY @ 800,000 %14} 800 0 800
YEIS HZ2SYA| 47,831 48,171 £340
YEIS o2 23,971 22,371 1,600
YEIS o2yl 23,971 22,371 1,600
101 2124l 23,971 22,371 1,600
01 B2 23,971 22,371 1,600
OPHS woig ag
1,600,000 %14} 1,600 0 1,600
HE1S J|=AH 23,860 25,800 A1,940
HEIS Il 23,860 25,800 A1,940
201 Yereg| 9,720 10,800 A1,080
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01 AtS22iHl 9,720 10,800 1,080
ORANZ2E =84 & 8,040,000& 8,040 9,120 A 1,080
202 Oddl 1,800 2,000 A 200
01 WY 1,800 2,000 A 200
o220l Z& 1,800,000 1,800 2,000 A 200
203 ¥R =&l 9,340 10,000 A 660
01 D22 HRF4dl 5,940 6,600 A660
OJ|22Z =4 2 & 5,940,000 5,940 6,600 A 660




